TAMWIRA EixEtVYREE CURRENT SENSORS [ S20S M1, 1/1 | 3 1209]
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Servo system Current-output type

S20S M1 SERIES

ft #& SPECIFICATIONS Taz+25°C, Voom £16V
e
JE B Spec PARTEE Tees S$20S200D15M1
;’irﬁf;ﬁ norminal current If 200AT 300AT
BEES - Vee=£12v 50~3850 Vee=+12V 90~130
Measuring resistance Voot 15y 250650 Vooi15y p—
%ﬁ?gﬁﬁ current lo 100mA (&4t Turn Ratio: 1 : 2000) 150mA (&4t Turn Ratio: 1 : 2000)
gjujtjpgjtﬁc{ﬁfnt accuracy Xe lo£1% (without lof)
gf?sgt/gﬁif lof = +0.5mA (at If=0A)
ﬁﬁﬁﬁm@é’uﬁ! SVDC&Ta=70C lfmax +300AT (at RL=300Q)
gju?p%t{‘vﬁ,rr%arity EL = +0.25%(at If)
Eﬁf’ipmy voltage Vee +12V£5%~=+15V+5% (Ratad output current is restricted by Vcc)
?o%siar)fplion current lec = £16mA (without lo)
%L/sgérfg‘egt%’eg U7 = 1us (di / dt = If/us)
Eé%ﬁiﬁ;ry&?rra::c?erisﬁcs f DC---150kHz
%ZEZF ?{%ﬁ}%m Telo = +0.02%/°C (Without Tc lof) (-5°C~+70°C)
?%ﬁnjaw%rmlﬁﬁﬁig Telof = +0.012mA/°C (-5C~+70C)
ﬁ;(sf;r)e/sé“egﬁr loH = 0.3mA (atlf = 0A — If — 0A)
HARTHE vd AC2500V. 14BI(RICER 0.5mA). B@IBAIRAIo T —1ER
Insulation voltage AC2500V for 1 minute (Sensing current 0.5mA) inside of through hole < terminal
i osie) . Ris . éSOOMQ (@T DC500V) )
Insulation resistance BERIBARISHEF—IER inside of through hole < terminal
%))nfgér% iOﬁpﬁeraling temperature Ta —20C~+70TC
ﬁnﬁég ﬁoﬁrage temperature Ts —20C~+85C
gg:ﬂgﬂn:(ligr}ybgfﬂfsistance Rs 33Q @ Ta=70C

1 AT EVNEREIATEZTVL ARG EHBOEET S,  *1 Offset current value is after removal of core hysteresis.
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I i) Note
HERESTAAERE05mMMET B,
38 2-¢4.2 Unless otherwise specified, tolerances shall be £0.5mm




